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Statements Yes No

From Azure Service Health, an administrator can view the health of all the services deployed |

to an Azure environment and all the other services available in Azure. |}
From Azure Service Health, an administrator can create a rule to be alerted if an Azure 1C :
service fails. s

From Azure Service Health, an administrator can prevent a service failure from affecting a [ e
specific virtual machine,

QUESTION 74
This question requires that you evaluate the underlined text to determine if it is correct.

From Azure Monitor , you can view which user turned off a specific virtual machine during the last
14 days.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is
needed". If the statement is incorrect, select the answer choice that makes the statement correct.

A. No change is needed
B. Azure Event Hubs
C. Azure Activity Log
D. Azure Service Health

Correct Answer: C

Explanation:

You would use the Azure Activity Log, not Azure Monitor to view which user turned off a specific
virtual machine during the last 14 days.

Activity logs are kept for 90 days. You can query for any range of dates, as long as the starting
date isn't more than 90 days in the past.

In this question, we would create a filter to display shutdown operations on the virtual machine in
the last 14 days.

References:
https://docs.microsoft.com/en-us/azure/azure-resource-manager/resource-group-audit

QUESTION 75
This question requires that you evaluate the underlined text to determine if it is correct.

You have an application that is comprised of an Azure web app that has a Service Level
Agreement (SLA) of 99.95 percent and an Azure SQL database that has an SLA of 99.99
percent.

The composite SLA for the application is the product of both SLAs. which equals 99.94 percent.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is
needed." If the statement is incorrect, select the answer choice that makes the statement correct.

A. No change is needed.
B. the lowest SLA associated to the application, which is 99.95 percent
C. the highest SLA associated to the application, which is 99.99 percent
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D. the difference between the two SLAs, which is 0.05 percent

Correct Answer: A

QUESTION 76

Note: This question is part of a series of questions that present the same scenario. Each question
in the series contains a unique solution that might meet the stated goals. Some question sets

might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these
questions will not appear in the review screen.

Your company plans to migrate all its data and resources to Azure.

The company's migration plan states that only platform as a service (PaaS) solutions must be
used in Azure.

You need to deploy an Azure environment that supports the planned migration.
Solution: You create an Azure App Service and Azure Storage accounts.
Does this meet the goal?

A. Yes
B. No

Correct Answer: B

QUESTION 77
You have an Azure web app.

You need to manage the settings of the web app from an iPhone.

What are two Azure management tools that you can use? Each correct answer presents a
complete solution.

NOTE: Each correct selection is worth one point

Azure CLI

the Azure portal

Azure Cloud Shell
Windows PowerShell
Azure Storage Explorer

moowy

Correct Answer: AC

QUESTION 78
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HOTSPOT
For each of the following statements, select Yes if the statement is true. Otherwise, select No.

NOTE: Each correct selection is worth one point.

Statements Yes No
Azure provides flexibility between capital
expenditure (CapEx) and operational P D

exponditure (OpEx).

If you create two Azure virtual machines that
use the B2S size, each virtual machine will O O
always generate the same monthly costs.

When an Azure virtual machine is stopped, you
continue to pay storage costs associated to the O O
virtual machine.

Correct Answer:

Statements Yes No

Azure provides flexibility between capital
expenditure (CapEx) and operational 'Ou O
exponditure (OpEx).

If you create two Azure virtual machines that —
use the B2S size, each virtual machine will O P,
always generate the same monthly costs.

When an Azure virtual machine is stopped, you

e % |
continue to pay storage costs associated to the 'LO. O
virtual machine.
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QUESTION 79

Your company hosts an accounting named App1 that is used by all the customers of the
company.App1 has low usage during the first three weeks of each month and very high usage
during the last week of each month. Which benefit of Azure Cloud Services supports cost
management for this type of usage pattern?

A. high availability
B. high latency

C. elasticity

D. load balancing

Correct Answer: C

QUESTION 80

Note: This question is part of a series of questions that present the same scenario. Each question
in the series contains a unique solution that might meet the stated goals. Some question sets
might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these
questions will not appear in the review screen.

Your Azure environment contains multiple Azure virtual machines.

You need to ensure that a virtual machine named VM1 is accessible from the Internet over HTTP.
Solution: You modify an Azure firewall.

Does this meet the goal?

A. Yes
B. No

Correct Answer: A

QUESTION 81

Note: This question is part of a series of questions that present the same scenario. Each question
in the series contains a unique solution that might meet the stated goals. Some question sets
might have more than one correct solution, white others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these
questions will not appear in the review screen.

Your company has an Azure subscription that contains the following unused resources:

=20 user accounts in Azure Active Directory (Azure AD)
= Five groups in Azure AD

=10 public !P addresses

* 10 network interfaces

You need to reduce the Azure costs for the company.

Solution: You remove the unused public IP addresses.
Does this meet the goal?
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A. Yes
B. No

Correct Answer: A

Explanation:

You are charged for public IP addresses. Therefore, deleting unused public IP addresses will
reduce the Azure costs.

References:
https://docs.microsoft.com/en-us/azure/advisor/advisor-cost-recommendations#reduce-costs-by-
deleting-or-reconfiguring-idle-virtual-network-gateways

QUESTION 82
This question requires that you evaluate the underlined text to determine if it is correct.

When planning to migrate a public website to Azure, you must plan to pay monthly usage costs.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is
needed". If the statement is incorrect, select the answer choice that makes the statement correct.

A. No change is needed

B. Deploy a VPN

C. pay to transfer all the website data to Azure

D. reduce the number of connections to the website

Correct Answer: A

QUESTION 83
This question requires that you evaluate the underlined text to determine if it is correct.

The Azure Standard support plan is the lowest cost option to receive 24x7 access to support
engineers by phone.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is
needed". If the statement is incorrect, select the answer choice that makes the statement correct.

A. No change is needed
B. Developer

C. Basic

D. Professional Direct

Correct Answer: C

Explanation:

The Basic support plan is free so is therefore the cheapest. The Developer support plan is the
cheapest paid-for support plan. The order of support plans in terms of cost ranging from the
cheapest to most expensive is:

Basic, Developer, Standard, Professional Direct, Premier.

References:

https://azure.microsoft.com/en-gb/support/plans/

QUESTION 84

Note: This question is part of a series of questions that present the same scenario. Each question
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